BANK BRADESCO Form 6-K December 10, 2010

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of December, 2010 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934
Yes NoX
<u>.</u>

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2010 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and (x) Controller's

Family

Family Dependants

	Openning Balance					
	-	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares		64.6426	32.3213			
	1,216,073,621					
Non-Voting Shares		1.0180	0.5090			
· ·	19,151,410					
	Closing Balance					
	_	% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares	Total			
Common Shares		64.6426	32.3213			
	1,216,073,621					
Non-Voting Shares		1.0180	0.5090			
-	19,151,410					

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2010 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Ba	nco Bradesco	S.A.			
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	() Technical and Advisory Agencies	
•		Оре	enning Balance		
				% of partic	ipation
Type o	f Securities/Der	ivatives	Quantity	Same type of	Total
				Shares	
(Common Share	S	13,087,920	0.6957	0.3478
N	on-Voting Share	es	17,665,190	0.9390	0.4695
		Cle	osing Balance		
				% of partic	ipation
Type o	f Securities/Der	ivatives	Quantity	Same type of	Total
				Shares	
(Common Share	S	13,087,920	0.6957	0.3478
N	on-Voting Share	es	17,665,190	0.9390	0.4695

Company: Bra Arrendamento Group and		S.A.				
Family Dependents	(x)Board of Directors	Executive Officers	() Audit Committee	() Technical and Advisory Agencies		
-			Openning Balance			
					% of particip	oation
Type o	f Securities/Deri	vatives	Quantity	S	Same type of	Total
					Shares	
(Common Shares	3		5	0.0213	0.0213
N	on-Voting Share	es		0	0.0000	0.0000
	_		Closing Balance			
			-		% of particip	oation
Type o	f Securities/Deri	vatives	Quantity	S	Same type of	Total
					Shares	
(Common Shares	3		5	0.0213	0.0213
N	on-Voting Share	es		0	0.0000	0.0000

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2010 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.								
Group and Family Dependants	()Board	of Directors		e Officers	() Audit C	ommittee	() Techni Advisory	
Dependants			Ope	nning Balan	ce			
			•	Ü			% of parti	cipation
	Type of	Securities/De	erivatives		Quar	ntity	Same type of Shares	Total
		common Shar on-Voting Sha				896,816 1,923,446		0.0238 0.0511
		-	Mor	th Moveme	nt			
Type Securities/D		Broker	Operation	Day	Quantity	Price	Value	in R\$
Common Sha			Buy Total	8-Nov	700 700	28.61	R\$ R\$	20,027.00 20,027.00
Common Sha			Shares Loan*	24-Nov	46,645	0.00	R\$	-
Common Sha	ares		Total		46,645			
Non-Voting Sh	hares		Buy	23-Nov	1,500	33.90	R\$	50,850.00
Non-Voting St	hares		Buy	23-Nov	1,400	33.92	R\$	47,488.00
Non-Voting Sh	hares	Bradesco	Buy	23-Nov	1,000	33.93	R\$	33,930.00
Non-Voting SI	hares	S.A. C.T.V.M.	Buy	23-Nov	100	33.99	R\$	3,399.00
Non-Voting SI	hares	C. I . V .IVI.	Buy	23-Nov	2,000	34.00	R\$	68,000.00
Non-Voting St			Total Sell	8-Nov	6,000 5,511		•	203,667.00 203,355.90
Non-Voting Sl	hares		Sell	8-Nov	3,800	36.90	R\$	140,258.00
Non-Voting Sh	hares		Sell	8-Nov	4,300	36.91		158,756.00
Non-Voting S	Shares		Total	-i D-l	13,611	36.92		502,369.90
Closing Balance % of participation								
Type of Securities/Derivatives Quantity Same type Total of Shares					•			
Common Shares Non-Voting Shares					850,871 1,915,835	0.0452 0.1018	0.0226 0.0509	

(*) The price and value in Reais (R\$) of Shares Loan was not informed because the maturity of the transaction will be on December 13, 2010.

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2010 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Ban	nco Bradesco S.A.					
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	(X) Audit Committee	() Technical and Advisory Agencies		
-		Openning	g Balance			
				% of particip	ation	
Type of Securities/Derivatives			Quantity	Same type of	Total	
				Shares		
Common Shares			10,042	0.0005	0.0002	
Non-Voting Shares			157,139	0.0083	0.0041	
		Closing	Balance			
				% of participation		
Туре	e of Securities/Deriv	atives	Quantity	Same type of	Total	
				Shares		
	Common Shares		10,042	0.0005	0.0002	
	Non-Voting Shares	•	157,139	0.0083	0.0041	

CONSOLIDATE FORM

Dependants

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2010 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Openning Balance

Company: Banco Bradesco S.A.

Group and ()Board of (Family Directors

() Board of (Executive Co Officers

() Audit (x Committee

(x) Technical and Advisory Agencies